Problem 3.53

Find Io in the network shown using loop analysis. Then solve the problem using matlab and compare your answers.
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Suggested Solution


[image: image2.wmf]6V

I

2

6K

W

6K

W

I

1

I

3

I

O

5mA

6K

W

6K

W



[image: image3.wmf]13232

33231

21

1

2

3

66()6()60

66()6()0

5

612126

66180

1105

KIIKIIKI

KIKIIKII

II

K

I

KKK

KKKI

KK

I

+-++-+=

+-+-=

-=

--

éù

éùéù

êú

êúêú

--=

êú

êúêú

êú

êúêú

-

ëûëû

ëû


Using Matlab

EDU» Z=[6000 12000 -12000;-6000 -6000 18000;-1000 1000 0]

Z =

        6000       12000      -12000

       -6000       -6000       18000

       -1000        1000           0

EDU» V=[-6;0;5]

V =

    -6

     0

     5

EDU» I=inv(Z)*V

I =

   -0.0046

    0.0004

   -0.0014
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